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QUESTION 1

Which feature solution of Cisco DNA Center drives the concept of SLA and guarantees that the infrastructure is doing
what you intended it to do? 

A. Cisco DNA Assurance 

B. Cisco ACI Anywhere 

C. Cisco DNA Spaces 

D. Cisco HyperFlex 

Correct Answer: A 

 

 

QUESTION 2

What is one benefit of the Aironet 4800 AP? 

A. cost-effectiveness for small-to medium-sized deployments 

B. modularity for investment protection 

C. Cisco CleanAir 

D. industry-leading hyperlocation 

Correct Answer: D 

 

 

QUESTION 3

What is a key feature of the Meraki MV Dashboard? 

A. drag and drop camera feeds to create video walls with up to 16 cameras per layout 

B. bulk configuration changes and software updates 

C. device security and location analytics in a single pane of glass 

D. single pane of glass showing root cause analysis for all connected wireless clients 

Correct Answer: A 
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QUESTION 4

Which of these statements clearly depicts increasing sophistication in the security threat landscape? 

A. 65% of attacks evade existing security tools 

B. 66% of connected devices are mobile 

C. 28% of top security constraints are caused by product compatibility 

D. 25% of users spend their worktime off network 

Correct Answer: A 

 

 

QUESTION 5

What Cisco AirOS-based controller would you recommend to a customer who needs a physical controller tor a network
up to 150 APIs? 

A. Mobility Express 

B. Cisco 8540 

C. Cisco 3504 

D. Cisco WLC 

Correct Answer: C 

 

 

QUESTION 6

What is one charlatanistic differentiating the Meraki Dashboard from competing network management interfaces? 

A. comprehensive aggregator of multi-vendor networks 

B. instantaneous access to virtualized applications 

C. built-in live chat for on-demand troubleshooting support 

D. centralized single pane of glass for access and management 

Correct Answer: D 

 

 

QUESTION 7
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What features are included in the default IP Base model package for the ISR 900? 

A. basic connectivity, VPN, and Zone Based Firewall 

B. routing protocols, Zone Based Firewall, and MPLS 

C. routing protocols, quality of service, basic connectivity, VPN 

D. routing protocols, quality of service, and basic connectivity 

Correct Answer: D 

 

 

QUESTION 8

What would be an indicator that a customer could benefit from a Meraki cloud-managed network? 

A. Customer needs modular hardware customization and granular, command-line level interfacing 

B. Customer prefers direct access to on-premises appliances and servers via in-line terminal management 

C. Customer requires end to-end visibility and a network that can be quickly deployed and easily managed by a limited
IT stat 

D. Customer seeks to implement a diverse solution of firewalls with 3rd party integration alongside other cloud
application. 

Correct Answer: C 

 

 

QUESTION 9

Which action occurs once an organization\\'s licensing expires? 

A. Under the `Organization tab\\' the \\'License info\\' has a message that blinks yellow indicating your license has
expired 

B. The organization loses all configuration and analytics information. 

C. The organization is immediately shut down. 

D. The organization enters a 30-day grace period to resolve the situation in order to return to compliance. 

Correct Answer: D 

 

 

QUESTION 10

500-560 PDF Dumps | 500-560 Practice Test | 500-560 Braindumps                                4 / 5

https://www.passapply.com/500-560.html
https://www.passapply.com/500-560.html
https://www.passapply.com/500-560.html


https://www.passapply.com/500-560.html
2024 Latest passapply 500-560 PDF and VCE dumps Download

Which of the following best describes the ISR 1000? 

A. a routing solution for customers who do not need an SD-WAN architecture 

B. a high-performance single platform capable meeting Gigabit forwarding performance needs 

C. a high-performance platform that offers SD-WAN, comprehensive security, and wired and wireless access 

D. an entry-level platform delivering WAN, comprehensive security, and cellular connectivity 

Correct Answer: D 
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